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87 1615401
2018(Even)
Time = 3 Hrs. ' Sem. IV |
Adv. Surv.

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question

carries 1 mark. .
A ¥ T 20 W @ I, v W B 3T T

Answer ali five questions from Group B, each question
carries 4 marks.
B @ s e yoA & I 3, vEE WA F A 4 T .

Answer all five questions from Group C, each question
carries 6 marks.

$~c@mﬂufagﬁiﬁmf,uﬁ$mmm6w%|

All parts of a question must be answered at one place in -
sequence, otherwise they may not be evaluated.
o W @ T I W IW T A e (T w9 q)
e =TT, mméqﬁaﬁmmﬂ'l

The figures in r:gh! hand margin indicate marks.
=t qed & &% E F guw € |

PT.0,
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GROUP A

1. Choose the most suitable answer from the
following options : . 20x1=20
waifus sygw fowes = g fafed -

(i - The working edge of alidade is known as :
* (a) straight edge
by~ fiducial edge
(c) sharp edge
(d) none of the above
() tfade =1 wdEM fogu Feam € ¢
(1) @ fmn -

(’) frgfme Fw
(=) dem fF

(7) W= W W w
(i1) In case the plane table is correctly oriented,
_the resectors will :
(a) form a triangle of error
(b) form a great triangle
(c) form a great circle
k&) meet at a point
iy fom-ved & W fagefa 99 @ fef
s G
(%) @ e T B T
(@) T ¥ o T
(®) @ g T
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(iii)
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titude level
In a theodolite, the axis of the alti

must be :

'ﬁlaﬁon
Jﬂ%/Pﬂr?illel to the line o colli

(i)

(V)

- (iv)

AKUbihar.com

i IS
(b) parallel to the trurinion aX! |
zontal ax1s

() parallel to the hori
al axis

(d) - parallel to the vertic .
frdreieTEe | am"]z-zl:g?‘rdﬁﬁ
2y a9fed ‘
(37) A AD S ® AR
(a)' A o 3 gaAART
(q) afts o 7 FAART

(%) T @ F A

The method of double sighting !5

T

by.a fhcodolite to -

_(ar prolong d straight line 1
(b) _measure the pearing. of 2 |
| ) | ;nesiswe the horizontal ang es

. ure the vertical angles

ine

(d) meas

P.T.O.

pcrfonﬁaa i .
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(v). The upper plate of a theodolite is fastened

)

‘“ 8

0 :
(a) the outer spindle

(b) the lower pIate'

(c) the upper plate )

(d) the inner spindle ,
ferdieiemse 1. FH @ Ty @ %
(a1) @l ui @ -
(@) #= e @ |

" (q) I90 @ ¥

| (vi)

(vi)

AKUbihar.com

(z) am=rE 4gi |

The process of turning the telescope of
theodolite about vertical axis in horizontal
plane is known as ;

(a) transiting
_(b}—swinging

(c) reversing

(d) plunging

fipieiom & dedry = afw wn ¥ 3
s @ o T W wE §
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Evii) Size of a theodglje is si?eciﬁcd by : (ix) Tacheometry 1 best suited :

(8) the length of telescope

(b) the di ertical circl (a) where chaining is impossible
lameter of vertical Circie

(b) for populous areas

_,@:( in broken ground

((.‘-) the diameter of lower plate
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/' the diatneter of upper circle ; ;
¢ = (d) for extremely accurate survey
(vi) ForETETR 1 sy feed Ffe g 2 g g | ' B
(31) TN B o A 5 : (ix) fFad fFe ofifefs & = S9F 20
() 9 39 3 =@ A = E (31 W@ W& shew swwE @
(W) N RN o =wd (@) & T s & R
@) W < B o @ @) W P W g
(vii1) The clip screw in a theodolite is provided (R) el i W&t waww fF 9 og
for : : : E_‘) The staff intercept in a tacheometric survey
Miﬂg the main plate ~ will be : ‘
’ (b) releasing the main plate S (a) smaller, nearer the staff is held
() fine adjustment :?? -; (b)  smaller, farther off the staff is held
Mlevelling the altimde bubble E '=E (¢) greater, nearer the staff is held
(viii) fodreieme # faom =g fom s . 5 5 (d) greater, farther off the staff is held
(3) 7&7 we W e @ 3 W s S %) i T § T s .
(A) 7= = = fEle +6 % & - () FAW, ™ H TREHER WX T
(®) WM e & o3 _ @) N '
. HHX, i ¢ @ W
TEgE qoad % ot .
) ¥ (W) TEM, T H TEEW W W
PT.0. (R) FW, ™ H FoFW [ @ W
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(xi) Tacheometry is 5 pranch of surveying

which :

. - - od
(a)  only the horjzontal distance > obtaine

is obtained

(b) only the vertical distanc
_ ()~ both horizontal and vertical distances
| are obtained
(d) none of the above
() i w3 @ e o, FE
(%) 37w dfw g 7@ F T E
(F) Fa@ 3@ @ @ H w2
(m) i @ g o g w9 A
g
(z) SWw d / FE T
(xii) In fixed hair method of tacheometry :
‘_,(z)_/stadia interval remains constant but the
' sl.aﬂ' intercept varies
(b) stadia interval is variable but the staff
intercept ‘remains constant
i:(c) both the stadia interval and staff
intercept are variable
(d.-) mlme of the above
" RT.O.
AKUbihar.com " AKUbihar.com
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(xii) fradd ® Fraa wq fafu o

(%) =fed a=ua fram wa ¥, S

(@) wfed =T wgewm 2, W T

(H)@ﬁmquammmm

(E)Bﬂdﬂﬁﬂ ¥ FE

(xiii) The sum of intersection apgle and the
deflection angle for a circular curve is :

(a) -90°

(b) ©0°
Sey180°

(d) 360°

(xm)ﬁ?{ﬁq?ﬁﬂa?:‘?ﬁfaqﬁﬁ}zqmu‘a
fagm w1 #1 9 T ¥ .
(1) 90°
(7 0°
(") 180°
() 360°

- (x1v) If chainage of point of curve and point of
tangency are 99 + 85 and 120 + 75
Rl AL
respectively, then total number of chords for
a normal chord length of 20 m will be :

(2) 100
(b) 50
(c) 24
@ 22
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(xiv) 20 7 ﬁwmﬁ%ﬂfﬂzﬁfﬁzﬁ
£ gEm T e afg @ 8 T
fag & 9 wR@: 99 + 85 wd 120+ 75
& ?
(31) 100
() 50
(9) 24
AT 22
-(xv) Point of tangency is the :
(a) beginning of the curve

by end of the curve

(c) mid-point of the curve

87

(d) none of the above
(xv) st ﬁ?\ilﬁﬁﬁ L

(3) a% H AEAA

(2) % HI gt

(@) =% F A M

() seiw F E A

(xvi) The straight line which joins the point of

curve and the point of tangency is :
| Lay Tong chord

(b) length of curve

(c) normal chord

(d) sub-chord
P.T.O.
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(xvi) 9% fag @ w9 fag H faer e i
(a1) &9 S
() =% & T
(w) W S
(%) Ig=iE,

(xvii) How many EDM instruments are there based

on wavelength ?

(@) 2
(b) 3

() 4

d 5

i s o e, e
]
' (31) 2

(7)) 3

(|) 4

(A) 5

(xviii) The last requirement for the mechanism of
remote sensing is to have - -
(a) a target

(b) an energy source

Jp)'/ a sensor

(d) a satellite
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(xviii)g‘ﬂz A T @ fo i AV
(&) & TR =
(4) & F9 wy #
_ B W oR
(3) % ST #I
(xix) Which unit in total station possesses data
collected 7-
(a) Data collector
(by EDM
(c) - Storage system
(dy Microprocessor .
(xix)mmﬁmﬁ@ﬁwmm
g & &
(&1) T HEH
(%) 3
(@) wRs Fome
(%) FEHAEE

) In digital land surveying and mapping, total .

(xx
station 18 used for :

(a) establishment of control points
collection of field-data
(cj preparation of map

(d) none of the above
P.T.O.
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(xx) fefores s Faaw @ A 7 e Ry
w1 OFE B % : '
(37) wa@ fagsdl & wrw o
() free AwS B wmw A
(@) W fmfor o
(z) I ¥ 9 #F T
GROUP B
Answer all Five Questions. 5x4=20

gt uier e ® IW ST |

2. Differentiate between transiting and swinging

operations of a theodolite. 4
fordreremse ® =ifefen wa fafm sfeaw 3 o=
wWe e |
Or (37e14T)

What are face left and face right observations ?
Why both face observations are taken ? 4
i wew TS T v %ew #@m g 2 g
woE B YO @ fem S # 2
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pifferentiate belWe *0 the following : 242=4
+ 7=

transit an
(a) - d “Oﬂ-trausn theodolite -

(b) temporary ang
theodolite

() T W Hgie A
(@) frieeE 5 gep w et

Or (3er=T)

permanent adjustment of

What is Balancing a traverse ? Enumerate the
methods of balancing a traverse. 4

S e T # 0 i F St
#.9m fafew | '

What is the use of telescopn: alidade ? 4.
Yefrepfos Twhee @ N I 22
Or (31erET)
* What are. the advamﬁges of aerial surveying :
Discuss in brief. ‘ | |
) gag § FoH
] 3 g @ &
ofma waET
Fifaw |
ine the stadia
cess 10 determine
Explain the pro _ )
1d.
const:{nts in the fie o -
E] wfed fei®
p | PT.O.

AKUbihar.com

WO ALYV

WO ALYV

WodIBYIqY Y

WorAEYIq NV

AKUbihar.com

AKUbihar.com

1615401 14 87.

Or (.C’HEIET)

Define curve. Mention the different elements of a

_simple circular curve with a neat sketch. 4

% & sy fafey | w wa g 9% &
% fa3 a9 9% fafv= sgal & fafew |

What are the advantages of Total Station ? 4
I B ® F AN F 2

Or () _. |
What is remote sensing ?-Explain brieﬂ}; the history -
of remote sensing. 4

ﬁdzﬁﬁww%’a@wﬁﬁtﬂzﬁﬁné
e & =Em wifsg |

GROUP C

‘Answer all Five Qdestions. , 5%6=30
ooft o T ® IW G

.J/ What are different methods of plane table

surveying ? Explain any one methpd with the help
of a neat sketch. ' 6
Tew v wdew @ fafe fafiel sE-we
£ 2 we fa3 #t wew @ fedt ww fafy #
e FifT |
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or(m) 8. Describe the process of measuring the vertical
The rE?cord of & closeq traverse is given below with angles with the help of a theodolite. 6
two distances misgjp . 6 foriigiemsz #1 F% ® g i @ AW A
fafy @1 auiA Y |
e m)| Bearing o a Or (3terar)
| AB | 1005 TR300E % z | | ,
BC _-'_'-‘;.‘*‘-——W B ks -How will you. perform the following operations
_Eﬁ"“}g‘(r S40°30'W g g with a theodolite ? | 3+3=6
*[le——h—-s-a_s__ 600w (a) To prolong a straight line
H_EE—‘___T_ TS (b) To measure the magnetic bearing of a line.
' fipidee &t R ¥ frafafas sfead &g
Calculate the length of BC and EA. W w2 _
= e R b, R (3) T W T W T A A
78 T 3 ¥ | BC 7w EA % w=H WW () @ @ & Fahd @A T FA
I - . Mwo tangents intersect at chainage 190+17, the
e p—Tyy i — § g deflection angle being is 11° Cjalculau? all the data
B 1005 : N30°30E g :5_ necessary for setting out'q_?gf.jlmple circular curve
BC . 9 S45°0E = = by the method of deflection angles. The peg
CD| 750 | S40530W 5 3 interval may be taken as 30 m. 6
DE| 505 S60°0'W 2 el @ 190+17 s0E W firerdt & | Eﬁ_‘j
EA 7 N40°15'W FO OH FA_11° % 103 'HT?T“T' FHe qF B
P % fod omavaE dmel w1 WA fasw
For fafy ¥ Frfere | @ FOE 30 HR

P.T.O. - . fam w1 gwa £
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Or (3AeraT)
How will you perform the temporary adjustment
of a theodolite ? Describe in detail. 6
et fomierme 51 aperdt @S o9 F F3T 7
foem @iy it |

*0-/(5'1) Explain the principle of tacheometry.

() Afeid & fagr 1 TS Y

(b)  Write the advantages and disadvantages of -

tacheometric surveying over other methods

of surveying. 3+3=6
(@) fFanifer gdeam 2 01 TS 39, TR HAE
el = sy § fafag |
Or (aiw:rr)

Find the mean value of the multiplying constant
of a tacheometer with the following observations.
Additive constant was 0.25 and the staff was kept

vertical : 6
Observations | Horizontal | Vertical Stadia
' distance Angle | Readings
in metre
1 60 0°0" 0.956, 1.546
2 120 1°15* 1.261, 2.466
P C1ean e ———
3 180 1°40 1.361,3.111
_-_______————__.__'
P.T.Q,
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mWﬁWWﬁﬂhﬂ;mﬂmﬂ
frfefea gedl a0 0 FIWT | dhw feemrs
H UM 025 ¢ N TP IW @ g e |

T | dfrw gt W ¥ | FElw | Rfem
i e
1 | 60 0°0" |0.956,1.546
120 | I°15' | 12612466
3 180 | 140" [1361,3.111

'11. (a) Explain the interaction of elcctmmagnetwe
. energy with matter.

(n) frdt T ® WY wERERes Fe w
safam &1 A& FfEU |

«b) Explain specific applications of remote

sensing. 3+3=6

(=) fde dfdn @ fafre swde @ e
FHifaQ |

Or (37e0dT) _

(a) Write the principle of Electronic theodolite.

(%) R T @ fagih ® fafee |

(b) What are the components of EDM ? What

1s its use ? 3+3=6

(@) AW B v R 7 ToF IWEm
22

Tk 2700
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